AP 10

ST UpyY L ENTIRE
POLITICAL SCIENCE TEST

1. “State” isa word
a. Latin b. Greek c. French d. German
SIS 6TeILIG Qomgl  CFmev.
a. BevdHde b. &Gysbesib . N6Iyeha d. Gegimipesr

2. “The Prince” was written by
a. Machiavelli b. Laski c. Dicey d. Montesquieu
‘B)6TeUT TG 6T60IM [HITEN6V  6T(LDSHIUIGUIT
a. LTHEUIeI6060 b. 6verva) c.aLd  d. wremiGlerdauy

3. Which of the following are elements of a state?
(i) Population (ii) Territory  (iii) Government (iv) Sovereignty

a. (i) & (ii) b. (ii) & (iii)

c. (i), (ii), (iii) d. All of the above
LlesTeu(hHeUeTaIBBIST DIFFl6i FnmIdHei WTeneu?

(i) wéHH6TOHTEMND (ii) eT606m6V

(iii) &y smmIsLD (iv) Benpuimentento

a. (i), (i) b. (i), (i) o (i), (i), (i) d. Guosedu SmaBSID

4. Match the following

A. Grammar of Politics 1. Adam Smith
B. Wealth of Nation 2. ].S5. Mill
C. Spirit of Laws 3. Montesquieu
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D. On Liberty 4. Laski
QUT(HSHBHIH :
A. Grammar of Politics 1. &b edds
B. Wealth of Nations 2. J.S. flev
C. Spirit of Laws 3. omemolLerdauy
D. On Liberty 4.  eumerdd)
A B C D
a. 4 1 3 2
b. 4 1 2 3
c. 1 3 2 4
d 4 3 2 1

5. According to whom is the ideal number for population of a state is
10,000?
a. Rousseau  b. Aristotle  c. Bodin d. Montesquieu
R SPFler  10HHNTOBHTNS 10,000 5 BHHd  Couswi(Bld  6leidh
gaplweuT wimr?
a. emGerom b. eiflerdLm’ 1960 c. Gumgest d. wreeLerdaluy

6. “State is a people organized for law within a definite territory”
Who said this?
a. Holland b. Burgess c. Woodrow Wilson d. Garner
‘o eaaiugl @ SHUILL  aemeud@Gel, FULSHBG 2 LUl G
BiTeudbadbanigul 10&HC6T 6TerTd  GnpSlulieuiT
a. ammevbhdkl  b. LiTHerd c.2 L'Gym alebgen d. amitet

7. Who said “Man is a social animal”?

a. Aristotle b. Cicero c. Machiavelli d. Walls Grahams
LOENHET @(H Fepd aleVmIG 616 FnmiuleuT WmT?

a. 9flerdLm 1960 b. fa@ym

C. DTS UIaI6060 d. eumeberd Hyammiberd
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In which of the following electors participate in government indirectly?
a. Direct Democracy b. Monarchy

c. Oligarchy d. Representative Democracy
SDHWILUBDBIOT  61HSH (LPOB  DIJSTRISHHED GUTHHTENTHET  LDMB(LPSHLOTES
UmRICsBEHIBTTEH6NT?

a. Gmyg wdhsenmd
C. FmIGeuT gl

b. wiguim’ &
d. Upapddaien wosemm

Democracy is defined as “Government of the people, by the people and
for the people” by
a. Aristotle b. Jean Bodin

c. Abraham Lincoln d. Mussolini

“eeeMmldl  eaiLg  LSHHNT60  WHHEHGITESH  BCHTMHOSBEHBLILL (B
LDSHFHENMTE0 SLMLILGBLD DIFFTRISTGD 616aiiml @GN LeuT wimiT?

a. ofleroLm’iged b, ofeir Gumigelt c. soyysETd edmiser d. (pGaFmedef

Which among the following is an example of multiparty system?

a. US.A b. Britain c. China d. India
SLDSHEWILQUBMIGT LS. & DIenIoLILSEG @T 6IBSHHISBT (B 61%HI7
a. USA b. AL 65t c. deurr d. ®bgwr

APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187




TTTTTTTTTTT
EEEEEEE

POLITICAL SCIENCE TEST
ANSWER KEY

4| Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187




